ウルトラ語彙力主義　確認テスト


Unit 64
Southbound traffic on Mitchell Freeway is (



) from Farrington Street to Russell Road due to an accident.

A school bus (                   ) into a lamppost.

Vehicles without permits will be (



) at the owner’s expense.
The traffic (




) gets worse during the summer.
They were only (



) injured in the crash.
The airport is (



) congested.
They are (



) the boxes into the truck.


congested     congestion     crashed     heavily 


loading         slightly        towed








